Name: ____________________________________________________ Class: _________________________
Homework 23: 3/26/18 to 3/29/18
Monday, March 26th, 2018
Solve for  in the equation below. 
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Tuesday, March 27th, 2018
Solve the equation below. Then, explain what the result means.




Wednesday, March 28th, 2018
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A farmer is building a fence around a rectangular region.

 Fencing costs $20 per yard.
« The length of the rectangular region will be 4 more yards than the width.
* The farmer wants to have a total cost of $1,200.

PartA

Let w represent the width, in yards, of the rectangular region. Which equation can be used to find the
value of w ?

A 20 (w+4) = 1200

B. 20 (2w + 8) = 1200
C. 20 (4w + 4) = 1200
D. 20 (4w + 8) = 1200

PartB
What will be the width, in yards, of the rectangular region?

Enter your answer in the box.
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